

ON NON-HOMOGENEOUS QUINARY QUINTIC EQUATION

$$(x^4 - y^4) = 125(z^2 - w^2)p^3$$

Vijayasankar A., Sharadha Kumar and Gopalan M. A.*

Department of Mathematics,
National College (Autonomous),
Tiruchirappalli - 620001, Tamil Nadu, INDIA

E-mail : avsankar@yahoo.com, sharadhak12@gmail.com

*Department of Mathematics,
Shrimati Indira Gandhi College,
Tiruchirappalli - 620002, Tamil Nadu, INDIA

E-mail : mayilgopalan@gmail.com

(Received: Mar. 13, 2021 Accepted: Mar. 27, 2022 Published: Apr. 30, 2022)

Abstract: The quinary quintic non-homogeneous diophantine equation represented by $(x^4 - y^4) = 125(z^2 - w^2)p^3$ is analyzed for its patterns of non-zero distinct integral solutions and some properties among the solutions are also illustrated.

Keywords and Phrases: Non-homogeneous quintic equation, quintic equation with five unknowns, integral solutions.

2020 Mathematics Subject Classification: 11D41.

1. Introduction

The theory of Diophantine equations offers a rich variety of fascinating problems [1, 2, 8, 9]. Particularly, in [3, 4] quintic equations with three unknowns are studied for their integral solutions. In [5] quintic equations with four unknowns for their non-zero integer solutions. [6, 7] analyze quintic equations with five unknowns for their non-zero integer solutions. This communication concerns with yet another interesting non-homogeneous quintic equation with five unknowns given by $(x^4 - y^4) = 125(z^2 - w^2)p^3$ for finding its infinitely many non-zero distinct integer solutions and some properties among the solutions are also illustrated.

2. Notations

1. Polygonal number of rank n with size m :

$$t_{m,n} = n \left[1 + \frac{(n-1)(m-2)}{2} \right]$$

2. Centered pyramidal number of rank n with size m :

$$CP_{m,n} = \frac{m(n-1)n(n+1) + 6n}{6}$$

3. Centered icosipentagonal pyramidal number of rank n with size 25 :

$$CP_n^{25} = \frac{n(25n^2 - 19)}{6}$$

4. Pyramidal number of rank n with size m :

$$P_n^m = \frac{1}{6} [n(n+1)][(m-2)n + (5-m)]$$

5. Pentagonal pyramidal number of rank n with size 5 : $P_n^5 = \frac{1}{2}n^2(n+1)$

3. Definition

Nasty number : A positive integer n is said to be a nasty number if it has atleast four different factors such that the difference between one pair of factors equals the sum of another pair of factors.

4. Method of Analysis

The non-homogeneous fifth degree equation with five unknowns is

$$(x^4 - y^4) = 125(z^2 - w^2)p^3 \quad (1)$$

Introduction of the linear transformations

$$x = u + v, \quad y = u - v, \quad z = 2u + v, \quad w = 2u - v \quad (2)$$

in (1) leads to

$$u^2 + v^2 = 125p^3 \quad (3)$$

To solve the above equation, the method of factorization is employed as illustrated below:

Let

$$p = a^2 + b^2 \quad (4)$$

Write the number 125 as

$$125 = (10 + 5i)(10 - 5i) \quad (5)$$

Substituting (4), (5) in (3) and applying the method of factorization, consider

$$u + iv = (10 + 5i)(a + ib)^3 \quad (6)$$

Equating the real and imaginary parts, one obtains

$$\begin{aligned} u &= 10(a^3 - 3ab^2) - 5(3a^2b - b^3) \\ v &= 10(3a^2b - b^3) + 5(a^3 - 3ab^2) \end{aligned}$$

In view of (2) the values of x, y, z, w satisfying (1) are given by

$$\begin{aligned} x &= x(a, b) = 15(a^3 - 3ab^2) + 5(3a^2b - b^3) \\ y &= y(a, b) = 5(a^3 - 3ab^2) - 15(3a^2b - b^3) \\ z &= z(a, b) = 25(a^3 - 3ab^2) \\ w &= w(a, b) = 15(a^3 - 3ab^2) - 20(3a^2b - b^3) \end{aligned}$$

Properties:

- i. $6[50P_a^5 - 25(a - 1) - z(a, 1)]$ is a nasty number
- ii. $50P_a^5 - t_{52,a} - z(a, 1) \equiv 0 \pmod{11}$
- iii. $z(a, 1) + 56a = 6CP_a^{25}$

Note 1:

It is to be noted that in addition to (5), 125 may be represented as the product of complex conjugates as shown below:

- **Choice(i)** : $125 = (5+10i)(5-10i)$
- **Choice(ii)** : $125 = (11+2i)(11-2i)$
- **Choice(iii)**: $125 = (2+11i)(2-11i)$

For each of the above choices, the corresponding solutions to (1) are presented below:

Solution for choice(i):

$$\begin{aligned} x &= 15(a^3 - 3ab^2) - 5(3a^2b - b^3) \\ y &= -5(a^3 - 3ab^2) - 15(3a^2b - b^3) \\ z &= 20(a^3 - 3ab^2) - 15(3a^2b - b^3) \\ w &= -25(3a^2b - b^3) \end{aligned}$$

Solution for choice(ii):

$$\begin{aligned}x &= 13(a^3 - 3ab^2) + 9(3a^2b - b^3) \\y &= 9(a^3 - 3ab^2) - 13(3a^2b - b^3) \\z &= 24(a^3 - 3ab^2) + 7(3a^2b - b^3) \\w &= 20(a^3 - 3ab^2) - 15(3a^2b - b^3)\end{aligned}$$

Solution for choice(iii):

$$\begin{aligned}x &= 13(a^3 - 3ab^2) - 9(3a^2b - b^3) \\y &= -9(a^3 - 3ab^2) - 13(3a^2b - b^3) \\z &= 15(a^3 - 3ab^2) - 20(3a^2b - b^3) \\w &= -7(a^3 - 3ab^2) - 24(3a^2b - b^3)\end{aligned}$$

Note 2:

It is worth mentioning below, that, the two choices for the values of z and w in the linear transformations (2) may be taken as follows:

- **Choice(iv)** : $x = u+v, y = u-v, z = uv+2, w = uv-2$
- **Choice(v)** : $x = u+v, y = u-v, z = 2uv+1, w = 2uv+1$
- **Choice(vi)** : $x = u+v, y = u-v, z = u+2v, w = u-2v$

For simplicity and brevity, the integer solution to (1) for the corresponding choices of z, w and 125 are exhibited below:

Solution for choices(iv) and (5):

$$\begin{aligned}x &= 15(a^3 - 3ab^2) + 5(3a^2b - b^3) \\y &= 5(a^3 - 3ab^2) + 15(-3a^2b + b^3) \\z &= 50[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] + 75[(a^3 - 3ab^2)(3a^2b - b^3)] + 2 \\w &= 50[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] + 75[(a^3 - 3ab^2)(3a^2b - b^3)] - 2\end{aligned}$$

Solution for choices(iv) and (i):

$$\begin{aligned}x &= 15(a^3 - 3ab^2) - 5(3a^2b - b^3) \\y &= -5(a^3 - 3ab^2) - 15(3a^2b - b^3) \\z &= 50[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] - 75[(a^3 - 3ab^2)(3a^2b - b^3)] + 2 \\w &= 50[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] - 75[(a^3 - 3ab^2)(3a^2b - b^3)] - 2\end{aligned}$$

Solution for choices(iv) and (ii):

$$\begin{aligned} x &= 13(a^3 - 3ab^2) + 9(3a^2b - b^3) \\ y &= 9(a^3 - 3ab^2) - 13(3a^2b + b^3) \\ z &= 22[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] + 117[(a^3 - 3ab^2)(3a^2b - b^3)] + 2 \\ w &= 22[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] + 117[(a^3 - 3ab^2)(3a^2b - b^3)] - 2 \end{aligned}$$

Solution for choices(iv) and (iii):

$$\begin{aligned} x &= 13(a^3 - 3ab^2) - 9(3a^2b - b^3) \\ y &= -9(a^3 - 3ab^2) - 13(3a^2b + b^3) \\ z &= 22[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] - 117[(a^3 - 3ab^2)(3a^2b - b^3)] + 2 \\ w &= 22[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] - 117[(a^3 - 3ab^2)(3a^2b - b^3)] - 2 \end{aligned}$$

Solution for choices(v) and (5):

$$\begin{aligned} x &= 15(a^3 - 3ab^2) + 5(3a^2b - b^3) \\ y &= 5(a^3 - 3ab^2) - 15(3a^2b - b^3) \\ z &= 100[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] + 150[(a^3 - 3ab^2)(3a^2b - b^3)] + 1 \\ w &= 100[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] + 150[(a^3 - 3ab^2)(3a^2b - b^3)] - 1 \end{aligned}$$

Solution for choices(v) and (i):

$$\begin{aligned} x &= 15(a^3 - 3ab^2) - 5(3a^2b - b^3) \\ y &= -5(a^3 - 3ab^2) - 15(3a^2b - b^3) \\ z &= 100[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] - 150[(a^3 - 3ab^2)(3a^2b - b^3)] + 1 \\ w &= 100[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] - 150[(a^3 - 3ab^2)(3a^2b - b^3)] - 1 \end{aligned}$$

Solution for choices(v) and (ii):

$$\begin{aligned} x &= 13(a^3 - 3ab^2) + 9(3a^2b - b^3) \\ y &= 9(a^3 - 3ab^2) - 13(3a^2b + b^3) \\ z &= 44[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] + 234[(a^3 - 3ab^2)(3a^2b - b^3)] + 1 \\ w &= 44[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] + 234[(a^3 - 3ab^2)(3a^2b - b^3)] - 1 \end{aligned}$$

Solution for choices(v) and (iii):

$$\begin{aligned} x &= 13(a^3 - 3ab^2) - 9(3a^2b - b^3) \\ y &= -9(a^3 - 3ab^2) - 13(3a^2b + b^3) \\ z &= 44[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] - 234[(a^3 - 3ab^2)(3a^2b - b^3)] + 1 \\ w &= 44[(a^3 - 3ab^2)^2 - (3a^2b - b^3)^2] - 234[(a^3 - 3ab^2)(3a^2b - b^3)] - 1 \end{aligned}$$

Solution for choices(vi) and (5):

$$\begin{aligned}x &= 15(a^3 - 3ab^2) + 5(3a^2b - b^3) \\y &= 5(a^3 - 3ab^2) - 15(3a^2b - b^3) \\z &= 20(a^3 - 3ab^2) + 15(3a^2b - b^3) \\w &= -25(3a^2b - b^3)\end{aligned}$$

Solution for choices(vi) and (i):

$$\begin{aligned}x &= 15(a^3 - 3ab^2) - 5(3a^2b - b^3) \\y &= -5(a^3 - 3ab^2) - 15(3a^2b - b^3) \\z &= 25(a^3 - 3ab^2) \\w &= -15(a^3 - 3ab^2) - 20(3a^2b - b^3)\end{aligned}$$

Solution for choices(vi) and (ii):

$$\begin{aligned}x &= 13(a^3 - 3ab^2) + 9(3a^2b - b^3) \\y &= 9(a^3 - 3ab^2) - 13(3a^2b + b^3) \\z &= 15(a^3 - 3ab^2) + 20(3a^2b - b^3) \\w &= 7(a^3 - 3ab^2) - 24(3a^2b - b^3)\end{aligned}$$

Solution for choices(vi) and (iii):

$$\begin{aligned}x &= 13(a^3 - 3ab^2) - 9(3a^2b - b^3) \\y &= -9(a^3 - 3ab^2) - 13(3a^2b + b^3) \\z &= 24(a^3 - 3ab^2) - 7(3a^2b - b^3) \\w &= -20(a^3 - 3ab^2) - 15(3a^2b - b^3)\end{aligned}$$

5. Conclusion

In this paper, we have made an attempt to determine different patterns of non-zero distinct integer solutions to the non-homogeneous quinary quintic equation given by $(x^4 - y^4) = 125(z^2 - w^2)p^3$. As the quintic equations are rich in variety, one may search for integer solutions to other forms of quintic equation with variables greater than or equal to five.

References

- [1] Carmichael R. D., The theory of numbers and Diophantine Analysis, Dover publication, New York, 1959.

- [2] Dickson L. E., History of the Theory of Numbers, Vol. II, Chelsea Publishing company, New York, 1952.
- [3] Gopalan M. A., Vijayasankar A., Integer Solutions of ternary quintic equation $x^2 + (2k + 1)y^2 = z^5$, International Journal of Mathematical and Sciences, 19(1-2) (2010), 165-169.
- [4] Gopalan M. A., Vidhyalakshmi S., Lakshmi L., Integral Solutions of non-homogeneous ternary quintic diophantine equation $ax^2 + by^2 = (a + b)z^5$, $a > b > 0$, Archimedes Journal of Mathematics, 3(2) (2013), 197-204.
- [5] Gopalan M. A., Vidhyalakshmi S., Kavitha A., On quintic equation with four unknowns $x^4 - y^4 = 2(k^2 + 1^2)z^4w$, Bessel J. Math, 3(2) (2013), 187-193.
- [6] Gopalan M. A., Vidhyalakshmi S. and Shanthi J., The non-homogeneous quintic equation with five unknown $x^4 - y^4 + 2k(x^2 - y^2)(x - y + k) = (a^2 + b^2)(z^2 - w^2)p^3$, Open Journal of Applied and Theoretical Mathematics (OJATM), 2(3) (2016), 08-13.
- [7] Gopalan M. A., Vidhyalakshmi S., Kavitha A., Premalatha E., On the quintic equation with five unknowns $x^3 - y^3 = z^3 - w^3 + 6t^5$, International Journal of Current Research, 5(6) (2013), 1437-1440.
- [8] Mordell L. J., Diophantine Equations, Academic Press, New York, 1969.
- [9] Telang S. G., Number Theory, Tata Mc Graw Hill Publishing Company, New Delhi, 1996.

